Joyful Mathematics Class 2 — Grouping and Shorlng

Let us Do
Counting the Cars and Wheels

Number of cars =
Number of wheels in each car = @

Il
)
N
==}
—

To’rolwheels=[ 4 ]+[ 4 ]+[ 4 ]+[ 4 ]+[ 4 ]+[ 4 ]+[ 4 ]
’rimes4is

7 groups of[ 4 ]is[ 28 ]

(7 )[4 )-(=n)
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Joyful Mathematics Class 2 — Grouping and Sharing
Let us Do

Number of butterflies=
Number of wings in each butterflies = _ g%

Totalwings =[ 2 [ 2 b [ 2 |=[ 6 | R
or 3 groupsof | 2 |is| 6 | $ %

times 2 is 6

Number of octopuses=

Number of legs in each octopuses =
Total legs = [ 8 ]"‘[ 8 ]= [ 16 ]
or 2 groups of [ 8 ] is [ 16 ]

2 times 8 is
2 eights are
(5 )+ 2)-(16)

7L eI
Number of lines = [I] i il L ik

Number of soldiers in each lines =

Total number of soldiers = [ 10 ]+[ 10 ]+[ 10 ]+[ 10 ]= [ 40 ]

’rimesis40
4 tens are
4 Jx[ 10 |=[ 40 |
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Joyful Mathematics Class 2 — Grouping and Sharing

Complete the table
s N/ N ~
3+3+3+3 4 times 3 4x3=12
Stars
AN AN AN vy
7 Y Y S
5+5+4+5 3 times 5 3x5=15
. A N Fingers y
e A Y~ A
3+3+3+3+3+3 6 times 3 6x3=18
Bananas
\. AN N _/
I N N \
4+4+4+4 4 times 4 N W16
Oranges
AN W, J
N N N
) X 5=
5+5 2 times 5 2 5.10
Pencils
\ A\, N J/
s SN N >
5+5+5 3 times 5 3x5=15
Balls
" 0 N N J
Match the following
9+9+9 T fives are 27
otot+to+o+toto 4 groups of 10 39
3+3+3+3+3 3x9 40
10+10+ 10+ 10 Ix8 14
8§+8+8 2 sevens 15
T+7 S times 3 24
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Joyful Mathematics Class 2 — Grouping and Sharing

Complete the Table of 2
[. ' Iﬂnnesareﬂ 12x1=2j
(.. " Iztwnsa_req- 1232=4J
aoe sew J2threesare s | 2536
[.... D000 szoursarea IEx-i:B j
{m“ DO IEﬁvesareB 1215:1[]}
(m DODODD IEsixesare 12 IEszﬁj

[m' YDDDDY DODOODD IEsevensareMIEx?:Mj
(m' OODDDY DODDDDOD IzeightsaremIExB:ﬁJ
\

(000000000 G09EIIORR | 2ninesare 18 [2x9=13 |

Complete the Table of 3

|E:; e IBonesaIeBI3><1=3j

e o0 P I 3 twos are b IS x 2= ﬁj

E:‘:f:au:‘- DDD DDO IB threes are 913 *x3=9 W

),

[p.:a:-p DD DO IS fours are 8 13 x4 =12 j

Ii:‘:f:au:--:‘u:- DODOD DDOGD 13 fives are 8 Ifi Xx5=15 ]
DODDOD DOODDD MO@DDD IE- sixes are 12 Iﬂ x6=18 j
DOODDOD MSSOT DDDDOD0 13 sevens are 1{3 x7=21 j

2

[

i |L,|D|L,ﬂl':}|',_‘ |D|D|'D':!|D|D|D|D 'D'D'D'D'.D'D'D'D IS Eights are 15 13 X B = .24 W
&

RY A

e i T T o 1 s I U U e D U 1 1 T i 1 D T 1 D 1 IB nines are 18 13 x9=27

-
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Joyful Mathematics Class 2 — Grouping and Sharing
Complete the Table of 5

(l““ :I:Snneaa_reSst1:5

(o |5 twos are 10 | 52710
[ !m“““! ]:5 threes are 151f5 x3=15

AL N,

e |stoursare20 | 5x4=20)
(0 [svesare2s | 5x5=25)
(8 B [ssixesare30 [5x6=30 |
(A e A | 5sevens are 35 5x7 =35 |
(A B e e | 5 eights are 40 [ 5x8=40 |
e O W v i | 5nines are 45 [ 5x 9=45 |
T T T T |stensares0 [5x10=50)

Complete the Table of 10

E,,,,,Q,,, IlﬂnnesarelﬂfDXI=1@

[3 2 %2 32 2 2 3 3 & 2 Imtwosare:mlfﬂhﬂzzﬂj

<
[3“ CE S A SR S Imthreesare:i{mxii:?.-ﬂj

[33 o2 282 N 2 n on B = Imfoursaretmll{]x-d:d-ﬂj

(33*‘ a8 380 88 a3 me v ¢ o W I1DﬁvesareﬁﬂI1Dx5:5(])

<
[m ARRBRR O ORRL RERORRR RRm MRR AR IR I1Dsix&sareEDI1DxE:6(]J

[m* 220% 222% 229 222° 222° 222° 202° 2220 m*‘lmsevensare?ﬁmx?:?ﬂj

[ﬁm ARAR RREA RRRR RAAR AARR RARR ARAR ARRA MI1DEightsareB(I‘lﬂ}(8=B(D

<
[mr S281° 2802 ARA2t aad AR WWWWI1D nines are Q'DI‘ICI X9 = QUJ

immmmmmmmmmﬂm tens are 1UDI1U x10 = ‘9)[]

shown above.
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How Many

4 groups of 5
4 times S51s 20
4x5=20

There are 20 gulab jamuns.

[EEEE
tiikan
¥ HEEE

6 groups of 4
6 times 4 is 24
6x4= 24

There are 24 flowers.

Joyful Mathematics Class 2 — Grouping and Sharing

e 0 ¢ 90 O
[ BN BN BF BN
(BN BN BE AN )
L BN BN BE AN
S groups of 4

5 times 41s 20

ox4=_20

There are _20 gulab jamuns.

—~— .

i

4 groups of 6
4 times 6 is 24
41 x6= 24

Lk a d

There are 24 flowers.

A. There are 8 packets of bindis. Each packet has 5 bindis.

Number of packets =

Number of bindis in each packet =

groups of bindis
(8 |x[ 5 |= 40 |bindis

o0 %0 (o)

B. Bharti puts 4 buttons on each shirt. She wants to put buttons on 7 shirts.

Number of shirts =
Number of buttons in each shirt = @
groups of @buﬁons

[ 7 |x[ 4 |= 28 butions

5
Ny

a2
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Joyful Mathematics Class 2 — Grouping and Sharing
C. Rita bought 6 pencils of Rs. 4 each. How much money will she give to the shopkeeper?

Number of pencils = @
Cost of 1 pencil = @

Costofbpencils =4 +4+4+4+4+4

(o))~ ()
So, Rita will give Rs. to the shopkeeper.

D. Five people can sit in a car. How many people can sit in 8 such cars?

Number of people sitting in 1 car =
Number of people sitting in 8 cars =
(8 |x[ 5 |=40]

people can sit in 8 cars.

Making Multiplication Table

3 6 9 12 15 18 21 24 27 30 (Tableof3)
+ 3 6/ 9 120 15 18 21 24 27 30 (Tableof3)
6 12| [18 24 30 36 42 48 54 60 (Tableof6)

Malce the table of 8 from the table of 2 and 6.

2 4 6 8 10 12 14 46 18 20 (Tableof?2)

t 6 12 18 24 30 36 42 48 54 g0 (Tableof6)
8 16 24 32 40 48 56 64 72 80 (Tableof§)

Free worksheets, NCERT Solutions, Learning material & more at www.onepointlearning.com



http://www.onepointlearning.com/

Joyful Mathematics Class 2 — Grouping and Sharing
Division of Numbers

Let us Share
Let us Do

A. Complete Ritu’s art and craft project by drawing 12 bindis equally on 2 ice cream cones as
cherries.

B. Pooja has 2 plates. Each plate has a different number of laddoos in it. Help her divide the
laddoos equally in 3 plates. You can draw and colour the laddoos.

How Many Groups?
Let us Make

A. Each string has 7 beads. [ We can make 3 strings
How many strings can we make with 21 beads?

B. There are 54 flowers. Join 9 flowers to make 1 bracelet.

How many bracelets can we make with 54 flowers? We can make 6 bracelets

C. There are 25 roses. 5 roses can be placed in 1 vase.

How many vases are needed for placing 25 roses? We need 5 vases

D. There are 27 candles. Put them equally in 3 boxes.

How many candles will be in each box? 9 candles in each box

E. A tailor puts 6 buttons on one shirt. Here are 30 buttons. [ 5 shirts
The tailor will be able to put 30 buttons on shirts. L J

F. Share 24 bananas equally among 3 monkeys.
Each monkey will get bananas.

:Each monkey will get 8 bananas:
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